APPEAL FOR FLOOD CYCLONE-BULBUL RELIEF IN SUNDERBAN WEST BENGAL

Cause : Cyclone-Bulbul and its devastating affects in Sunderban coastal blocks on

Saturday night Nov.09 & 10, 2019.

Affects : Major affected CD Blocks under BTS Area of operation - (Kultali,

Patharpratima, Namkhana).

Villages : 20 coastal villages affecting more than 9500 families directly in many ways.

Description : All the 20 villages are severely affected(as per attached photos) by the

severe cyclonic storm with gusting windy blows speed of about 110 kmph coupled with heavy rain hugely damaging mud-built huts/houses or their roofs, crops(paddy, vegetables etc), trees, animals like Goats, Cows and other

domestic ones in gangetic west Bengal.

Post Cyclone Affects

(Damage info) : Poor's mud-built houses/huts fully & partly (171+339=510+), Fishing Boats

& Beetle Vines, Paddy fields (huge damage), Cattles, etc.

Crops: Cyclonic storm with rain damaged various crops like paddy, Vagetables,

B/Vine(Pan Boroj).

Villagewise Damage Profile:

SI	Block	GP	Village	Damaged Huts(Fully)	Damaged Roofs(Partly)	Ponds/Fish Farming	Crops/BV(Pan boroj)/Boat
1	Kultali	03	10	63	173	223	415
2	Patharpratima	03	04	73	89	143	191
3	Namkhana	02	06	35	77	86	117
	Total	08	20	171	339	452	578

Immediate Need of Relief-materials:

Items	Unit	Туре	Rate	Cost (INR)
Tarpaulin (Tripal /Canvas Sheet)	500	Count	800.00	400,000.00
Rice (1 month initial support to victim-families)	10	Ton	40,000.00	400,000.00
Dal(1 month initial support to victim-families)	2	Ton	80,000.00	160,000.00
Potato(1 month initial support to victim-families)	10	Ton	25,000.00	250,000.00
Cooking Utensils damaged	500	Count	500.00	250,000.00
Blanket	500	Count	700.00	350,000.00
Sari/Dhuti	1,000	Count	350.00	350,000.00
Mosquito Nets	1,000	Count	350.00	350,000.00
Repairing of damaged roof/huts(Cash for Work)	100	Count	10,000.00	1000,000.00
Boat Repairing Support to fishermen families	10	Count	30,000.00	300,000.00
Support repairing of B/Vine(Pan Boroj)	100	Count	5,000.00	500,000.00
Crop-damage support for next crop planning	100	Count	5,000.00	500,000.00

^{***}Ist Phase: Green Color marked, 2nd Phase:Dark Blue, 3rd Phase:Blue

Few Glimpses require Humanitarian Aid









































